Extra Review



2-5 through 2-8


1.  Solve the following by both completing the square AND the quadratic formula.  (You should get the same answer both times.
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Out of this, you should get the idea that using a variety of methods is better than relying on one all the time.  

2.  Graph the following completely.

a)  
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f(x)x8x15
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f(x)3x18x14


d)  
[image: image12.wmf]=+

2

xy8y


e)  
[image: image13.wmf]=-++

2

3

f(x)x3x1

4


3.  Solve the following word problems.  

a)  Pete has 150 feet of fence to put around a rectangular garden.  If a 10 foot opening is left on one side for a gate, what would be the length and width for maximum area?
b)  An airline transports 800 people a week between 2 citites.  A round trip ticket costs $300.  The company estimates that for each $5 increase in price 10 passengers will be lost.  What ticket price will maximize income?  

c)  A rectangle is inscribed in an isosceles triangle.  The base of the triangle is 8 cm and the height is 10 cm.  Find the length of the inscribed rectangle with maximum area.    (Hint:  Draw the triangle the base on the x axis and one corner on the origin; then plot the vertex as a point).  
d)  Ken has 1200 meters of fence to put around 2  rectangular yards (that are side by side).  If the yards are to be separated by part of the fence, what would be the length and width for maximum area?  

e)  The perimeter of a rectangle is 86 cm.  Twice the width exceeds the length by 2 cm.  Find the dimensions of the rectangle.  
f)  The sum of Kari’s age and her mother’s age is 52.  Kari’s mother is 20 years older than Kari.  How old is each?

g)  The Pinetown Rec Center planned to build a rectangular ice skating rink with dimensions 30 meters by 60 meters.  The budget has then been cut, so they must reduce the area of the rink to 1000 square meters.  2 strips of equivalent width will be removed from both the long side and the short side of the rink.  Find the width of the dimensions.  
h)  If a number is decreased by its square the result is 
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9

.  Find the number.  
i)  If a number is decreased by its reciprocal the result is 
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.  

What?  You want MORE???  Well go to page 167 and do problems 41-95
Answer:

1.  a)  15 or 5  


b)  8 or -3

c)  
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2.  a)  v = (-4, -1);  AOS ( x = -4

b)  
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     c)  v = (-3, 13);  AOS ( x = -3

d)  v = (-16,-4);  AOS  ( y = -4
    e)  v = (2, 4);  AOS( x = 2

 3  a) 4o’ by 40’
b)  $350
c)  5 cm by 4 cm
d)  300 m by 200 m

     e)  15 cm by 28 cm
f)  36, 16
g)  10 meters wide  h)  
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